PASS
PORT. :hager
Product Environmental Profile

Cover Shutter Lumina - white

Company information References covered

Hager WXDO080P, WXD070P, WXD080C, WXD070C

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version No PSR issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification To protect and cover control elements for domestic switching devices during 20 years
WXDO080P

Use scenario based on :
PSR product Category : No PSR The functional unit is based on the use scenario recommended by the PCR for the category of the reference

product.

PEP ecopassport 1/6 HAGE-01298-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

PC 4.24 25.4% Silicon 0.03 0.2% Cardboard 10.55 63.2%
PE-LD 1.01 6.0% Paper 0.42 2.5%
Wood 0.40 2.4%

Other 0.05 0.3%

Total mass of reference product with raw material

packaging : 13 €

Total mass of reference product (Product +

packaging) HHE

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation Use End of life Module D

o
f=
— ° 4
IS 2 =) z % 2
5 2 c c = £ o) 29 I}
S E 5 s 53 3 5 G|z g
] 8 = = ] © © cS 8 5
s 2 =] =) o @ c ST = 2 o 0 [ = <3 g3
= £ c c = S x5 g8 @Q c c € 2 5] [=JN] Q o8
c 5 5 2 3 c o =) 2 L c kel
20 I = c < 2 c o o T g S8 = e E < <
Q. c Qo - 2 %) ©
o] IS =] S c = IS5 =1 8 o 8 5 2 £ < £
39 2 S0 o © o £ a = g E® =Ryl 3 S ® g > 2 3
3 8 o 3] S = 25 < S 9 < S o o < 2 o = S < 7
= O < 8 a © & o a3 2 [0 & 2 =0 29 7] a5 5 2 & a2
L a 3 = < O © T c [v4 = 7] 3 5 ‘5 3 c c <) 4 2
T =] c B Q9 = Q o = o a o =] £ T QO = a E 0
T 5 =] 7] 5 = (] o) o T o © = c 9
g9 b g 2s 2s 535 s e 14 22 S A =8 a2 2
= ® S Q o > = = £ 4 L=
T 7 2 2 x= = i o =R m 3
o = = = 2 g £ 23 S
= i =2 3
£ <
S

B3 B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
1SO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including packaging,
to its place of use.

PEP ecopassport 2/6 HAGE-01298-V01.01-EN



Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.
Installation elements (non delivered with the product)

Elements non delivered with the product and needed to install the product are not considered.

Use

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 100% 0 0% 0 100% 0 0% 0 0%

For the considered scenario, the product has no energy consumption.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 37%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.2.4-12 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

Al-A3 A4 A5 Cl-C4
Europe - Europe Europe Europe

PEP ecopassport 3/6 HAGE-01298-V01.01-EN



Environmental impact indicators

- - Manufacturing Distribution S EUET] Use End Of Life

Indicators Unit ALA3 Ad | AS | B1-B7 | c1-ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq 4.13E-04 1.81E-05 3.40E-05 0.00E+00 3.24E-05 4.98E-04 -7.30E-06
Climate change - Total (PEF-GWP) kg CO2 eq. 6.80E-02 2.86E-03 1.58E-02 0.00E+00 5.86E-03 9.25E-02 -8.46E-03
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -1.43E-02 0.00E+00 2.73E-03 0.00E+00 1.03E-04 -1.15E-02 -2.08E-05
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 8.23E-02 2.86E-03 1.31E-02 0.00E+00 5.76E-03 1.04E-01 -8.44E-03
(CFE"E‘E_EMC/ZT)Q&LZ‘”“ 15 e [ 05 S kg CO2 eq. 8.84E-06 0.00E+00 0.00E+00 0.00E+00 0.00E+00 8.84E-06 0.00E+00
Ecotoxicity, freshwater (PEF-CTUe) CTUe 6.45E-01 1.88E-03 1.70E-01 0.00E+00 1.71E-02 8.34E-01 -3.80E-03
EF-particulate Matter (PEF-PM) '”gi'gsggss‘)f 3.21E-09 1.47E-10 2.04E-10 0.00E+00 3.52E-10 3.91E-09 -3.12E-10
Eutrophication, freshwater (PEF-Epf) kg P eq. 5.89E-07 1.07E-09 1.69E-07 0.00E+00 7.41E-08 8.33E-07 -3.19E-08
Eutrophication marine (PEF-Epm) kg N eq. 7.19E-05 8.50E-06 1.58E-05 0.00E+00 5.68E-06 1.02E-04 -1.84E-06
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 7.87E-04 9.32E-05 1.00E-04 0.00E+00 6.44E-05 1.04E-03 -2.31E-05
Human toxicity, cancer (PEF-CTUh-c) CTUh 1.85E-09 5.03E-14 1.30E-09 0.00E+00 2.23E-12 3.14E-09 -2.03E-12
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 4.53E-10 9.73E-13 3.85E-11 0.00E+00 3.99E-11 5.32E-10 -1.89E-11
lonising radiation, human health (PEF-IR) kg Bg U235 eq. 8.17E-01 6.97E-06 1.97E-03 0.00E+00 2.87E-04 8.19E-01 -5.19E-05
Land use (PEF-LU) No dimension 2.51E-02 0.00E+00 3.13E-05 0.00E+00 1.04E-02 3.56E-02 -5.70E-01
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.28E-09 4.39E-12 1.54E-10 0.00E+00 7.22E-10 2.16E-09 -1.18E-10
F;‘g;‘fggeggsa' ozone formation - human health |\ o ¢ N\MVOC eq. 2.09E-04 2.35E-05 2.33E-05 0.00E+00 2.00E-05 2.76E-04 -5.92E-06
Resource use, fossils (PEF-ADPf) MJ 2.23E+00 3.99E-02 1.16E-01 0.00E+00 9.15E-02 2.47E+00 -1.52E-02
Resource use, minerals and metals (PEF-ADPe) kg Sb eq 1.10E-08 1.13E-10 2.93E-10 0.00E+00 4.63E-08 5.78E-08 -1.16E-10
Water use (PEF-WU) m3 eq. 1.14E-02 1.09E-05 9.93E-04 0.00E+00 9.20E-01 9.32E-01 -1.64E-01
Resource use indicators

5 Manufacturing Distribution Installation Use End Of Life

Indicators NS | i | AS | B1B7 | ci.cA | GLOBAL | Module D
Net use of fresh water 2.65E-04 2.53E-07 2.31E-05 0.00E+00 2.52E-02 2.55E-02 -4.71E-03
Total use of primary energy 2.56E+00 4.00E-02 1.32E-01 0.00E+00 9.62E-02 2.83E+00 -9.86E-02
e NN IEASHEBIC RIS SHEIoY 2.23E+00 3.99E-02 1.16E-01 0.00E+00 9.15E-02 2.47E+00 -1.52E-02
Total use of renewable primary energy resources 3.34E-01 5.33E-05 1.56E-02 0.00E+00 4.65E-03 3.55E-01 -8.33E-02
Use of non-renewable primary energy, excluding
non renewable primary energy resources used as 1.97E+00 3.99E-02 1.16E-01 0.00E+00 9.15E-02 2.22E+00 -1.52E-02
raw materials
Use of non-renewable primary energy resources 2.58E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.58E-01 0.00E+00
as raw materials
Use of non-renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of renewable primary energy, excluding
renewable primary energy resources used as raw| 1.37E-01 5.33E-05 1.56E-02 0.00E+00 4.65E-03 1.57E-01 -8.33E-02
materials
Use of renewable primary energy resources as 1.97E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.97E-01 0.00E+00
raw materials
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary materials 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 4/6 HAGE-01298-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed

Non-hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Indicators

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 1.34E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.34E-04 0.00E+00
Materials for energy recovery 1.82E-04 0.00E+00 1.31E-03 0.00E+00 0.00E+00 1.49E-03 0.00E+00
Materials for recycling 1.56E-04 0.00E+00 3.81E-04 0.00E+00 0.00E+00 5.37E-04 0.00E+00

Manufacturing |

2.00E-03

Distribution

A4
0.00E+00

Installation
A5

2.89E-04

0.00E+00

End Of Life

C1-C4
1.55E-21

GLOBAL

2.29E-03

0.00E+00

3.56E-02

1.00E-04

5.50E-03

0.00E+00

7.50E-07

4.12E-02

0.00E+00

1.40E-05

7.16E-08

6.24E-07

0.00E+00

5.34E-10

1.47E-05

0.00E+00

Manufacturing
A1-A3

Distribution

A4

Installation
A5

End Of Life

Cl-C4

GLOBAL

Biogenic carbon content

Packaging

Biogenic carbon content (ratio)

Cardboard

2.80E+01

3.78E+01

3.95E+01

1.05E-02 4.19E-04 3.98E-04 1.14E-02

Biogenic carbon content (declared unit) 2.95E-03 1.58E-04 1.57E-04 3.27E-03

Biogenic carbon content (functional unit) 2.95E-03 1.58E-04 1.57E-04 3.27E-03
Source ADEME APESA/RECORD EN 16485

Prod ardboard Pape ood

a g 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Bioge arbon conte eclare kg of C 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Bioge arbon conte 0 kg of C 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

Extrapolation table based on real Life Cycle Assessment calculation, please see Appendix

Verification

Registration N°:  HAGE-01298-V01.01-EN

Drafting Rules

PEP-PCR-ed4-2021 09 06

Supplemented by

No PSR

Verifier accreditation N°:  VH37

Information and reference documents: www.pep-ecopassport.org

Date of issue: 12-2024

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal e External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019

The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :
The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a

concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.
The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

5/6

HAGE-01298-V01.01-EN



Appendix

(PEF-Epm) - [kg N eq.]

marine
ity, cancer (PEF-CTUh-c) - [CTUh]

Exported Energy - [MJ]
Land use ((PEF-LU)

icif

Components for reuse - [kg]
Hazardous waste disposed - [kg]
Materials for energy recovery - [kg]
Materials for recycling - [kg]

Net use of fresh water - [m3]

Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, fossils (PEF-ADPf) - [MJ]
Total primary energy - [MJ]
Total renewable primary energy - [MJ]
Use of secondary material [kg]
Water use (PEF-WU) - [m3 eq.]

Total non renewable primary energy - [MJ]
Use of renewable secondary fuels - [M

z
5
&
]
+
I
5
&
]
[
N
18
w
>
S
8
2
£
]
<

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Use of non renewable secondary fuels - [MJ]

Eutrophicatior

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Human toxi

mate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWP) - [kg CO2 eq.]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, non-cancer (PEF-CTUh-c) - [CTUh]
Non renewable primary energy used as energy - [MJ]
Renewable primary energy used as energy - [MJ]
Renewable primary energy used as raw material - [MJ]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
EF-particulate Matter (PEF-PM) - [incidence of diseases]

Non renewable primary energy used as raw material - [MJ]
Resource use, minerals and metals (PEF-ADPe) - [kg Sb eq]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC ec|

E W CLENIN oo | oo0moo | -ose | soamcn | sasean | ooveson| asscan | sooeor [ 70205 | roreos | raseon | 2omeas | 2seas | asseao | sareon | sotece | roveon | soeon | 2oscon | ssoeca | roreso | asteon | roseos | szreas | 2oseon | saoeos | asreon [ sron | 2zsero | riveas | 2oseson| cosesan | ssseon [ asoesoo | acoeso | oooeson | aeean
R IETEOTTITEIIN - | e || e | | woren| s | sweer | s wamor| oo | ssmen| s | sroan | swee | soen | e | s | e | s | wriven | | s | v sseon | v srmer | s | s s | s s | s | i | oo arn | s
g <
= 67 IRTVEO T OTOMN ::ic.c: | scco: | -1ocoz | sascon | 7ocos | oooceoo | saogon | sarear | asseos | azscor | raieon | 2ascos | 1roeon | soeso | asscor | 2zseon | veseor | roreon | oaseos | asser | oameor | 102 | avseon | vaseos [ 17acor | zsoeon | raseos | remeor | vizeio | asseon | 1ieewo | vateion | soscor | aooesao | oooesoo | oooewo | 2rccr
g WEOTTLIOM :cvco | +i5co: | 1omein | suceon | roceas | acosean | omocor | ameor | ameos | azzeon | sascon | 2aoeon | 170e0n | soan | oasean | zascor | 1eocos | soicon | auoeon | asser | sacon | sszcor | acoeon | sseon | 17z | zsucos | szocon | emcor | nizewo| asmeao | sszeeto| soteo | soseor | osoeeon| ococsan | aocesto| 2rcon
LI oo | 20000 [ e | 2omecn | acoron | ooveson| 2s0eas | soreos [ ssomos | osae0s | acoesoo | coveson| soseae | arseas | soreos | asoesoo | acoeso | coveson| 2ssmar | sooeo | ssoeoe [ asomsoo | ssmere | rereao | 2sseas | 7aseos [ seos [ asoesoo | ssnece | rusero | asoeas | scoeon | sssos [ asoesoo | acoeso| oooeson | roseas
S
= LT -+ | = | oo | 2| oo oo s | oo | osees | ssces | o | owe | s | s | s | omeon | oneen | o | e | s | amce | e awese | s | et | e | s | owen | amee | | amete | swecn | sees | oo | oo o | s
E B TSI TCMI - ccco: | 2socon | aoneon| 2soman | oomean| oo | sesean | sssean | rancon | azsmen | comeen| oseon| s | asseas | asscon | oo | aoneen| asueon| | assees | sseeor | avomen | asress | ssoean | s | ameca | sees | o | asmeon | smess | asas | asmar | v | o | oo | avo | ssmcon
= RV ERTIUCHI s | 2roc0 | aeon] 2ses [ aovevtn| coneson] sotecn | seso | ranecs | aszeon ] aoreso | oovevon| wcamon | ssmecs [ asseos | aoceson] aewn | aoveo | zzzear | asecs | asece | oocevon| asrez| soeso [ zorecn | aamess | sreon | ascen| asemae | sssess [ smece | aseece | aroecs | oomeo | accevao| ascesoo] ssmeon
- VR CLENIN - - | om0 | 27200 | 11202 | acoio | oooeson| 2700n | woser [ asomos | 1oneos | acoesoo ]| zesean | 2s0m00 | soseas | 27000 | ssae0s | rarean | sercon | 2saces | ssoeos | 210mon [ asoesoo | roseto | 2omeao | 2ssmas | azweor [ 2somon [ asoesoo | 1ramor | ssmero | 16men | 25200 | 20m02 [ asoesoo | acoco | oooeson | asear
%m WECRIIN - - | om0 | 2720 | 131202 | acoio | oooeson| 2700n | woser [ asomos | 1oneos | acoesoo ]| zesean | 2s0m00 | soseas | asre0n | ssae0s | rorean | sercn | 2saces | ssoeos | 210mon [ asoesoo | roseto | 2omeao | 2ssmas | azseor [ 1somon [ asoesoo | 1ramon | 2smero | 16men | 252001 | 20002 [ asoesoo | acoco | oooeson | asean
g O KL LEMI -co: | +vocon | zooeas | ssimoe | oomeon| owan| sacer | sseeon | ssucen | ssseon | comeen| ason | s | s | soscon | 2rocon | sosean | amor | s | seames | soncor | svmen | ssiean | arresn| 2w | aweer | swee: | o | smeor | ssiean| seomer | sueer | s | o | oo | aveco | ssor
= VRGOSR - | oscor | 250000 | 1ueon [ e | acoesoo| resear | nascar | 2s0c0s | aomos | omeso| 2seos | ruuees | aameas | 2osmes | 275005 | 2oseon | 2oneos | ronecs | aszeas | 00mn | omesan | 2o | 177es0 | coueos | sasear | 2s500c | oomesan| 1o0eon [ 2sreso | roneor | rseear | 2sseor | oomesan | oames [ asoeso | ssueos
LI oo | ocoevoo | oo | aoeioo | acoeon | oooeson | oonesan | oanesan [ s [ aoeson | oo | cooeson | ootesan | oauesan [ ocmesao | asoeson | acoeso | cooeson | ootesan| oauesan | oamesso [ asoeson | oo | cooeson | ootesan | oanesan [ aamesso [ asoeson | acoeoo | aooeson | ooneson| oonesan | oamesso [ asosoo | acocoo | aooeson | ooveson
P IECTTT o | o | oo | oo e oo o oncon | oncen | oneen | o e | e e e o oneon | oncon | o e | e s e | omeon | omecn | oo | o | e | e e e oon | orecn | oo | o | o
S Z| wxposoc [ IS I DI DU DUV USSR DSV USSR DSV DS DS DSSIN DSV DSSIN DS USSR DS DS DUSTIN DS DUSTIN DS DS DS DS DS DS DOV DS DOV DS DI DU DI DU
(WYEGIYLTSR oo | oo0c+o0 | oonesan | oanesan [ s | aoesoo | acoesoo | oooeson | oonesan | oanesan [ oamesao | asoesoo | oo | cooeson | ootesan | oauesan [ oamesoo | aoesoo | acoesoo| cooeson | ootesan | oauesan [ oamesso | asoson | acoeso | cooeson | ootesan | oonesan | oamesso [ asoeson | acoesoo | aooeson | ooreson| oonesan | oamess [ asorso | acocro
W CLENIIN o< | so0m | 2oos | sreecn | aomio | oooeson| 17aeee | 7moo [ soseos | oaseos | acomso | sseas | ez | sooea | 2oreos | 1oeca | acoeso | cooeson| 2s2maz | 7s0eor | saseon [ asoesoo | 72zmto | aszeao | 2oomas | ssaeao [ woseon [ asoesoo | srseoe | seseas | arser | seron | asseon [ asoesoo | acoeso | oooeson | szoeen
@
| IEECEIL I - | oo | e | sr0cca | oo | oeco| aricce [ e[ e | s | oot | sssen | 2amese | amess [ awreon | o [ omean | omoc | zszeon | 7s0cor | asscos [ aoneon| e | aszeio | zoneos | satean | asscen | aoveo| arsee [ awece | assein | sozeon | asseon | oceo aoteoo| aceeon | e
5
GRS IR IO <cos | ccocon | soscon | sonei [ aooeean | aoneo | 17ece | 7ssen | saieao [ ssneos | ooneo | sssear | 2mese | aomeas [ 2smeos | sorcon | oo osoron| 2sseaz [ zascor | asreon | omeso | 7oseio [ asmeao | 2wscos | sureso | arecan | oweon| sareaa [ aricon | azece | saseae | aree | aoean | ooreo | oomeso | siceor
w
WEGIYETSI = | ooccs | oocos | so0moo [ omeso | acoesoo| 1rseae | 7soeas | sorces | asomos | omewo | sosear [ camese | acseas | 2svmos | sore0a | omeso | asoesoo | csseae | resear | ssrees | omesan| 73920 | soteso | coneas | sereao | aroees | oomesan| sreoe [ arseos | osvece | sesee | roeas | oomesan| omeso | asoeso | sszon
YR CIENIN -=o:| -occo | 2000 | a0 | acoi0 | oooeson | sonecn | 215008 [ -rouea [ 252005 | oo | cooeson | 2caese| -nosess [ 510005 | 700 | acoro0 | cooeson | 47100 oamesan | -5z [ oo | 1000 | 51080 552200 oamesan [ -ssee [ s | 5202 | am0] 5202 -ooneoe| s [ asoson | acoero | oooeson | acieer
[a]
o WECRIGIN - | 5o | 2oos | sr60m | acomio | oooeson| 17eee | 7moo [ sercos | sarecs | oo sseas | 2z | sooea | 2oreos | 1oece | acomso | cooeson| 25200z | sssean | saozo0 [ asossoo | 72zmt0 | ssaeao | 2somas | omesan | woseon [ asoesoo | sram0e | seseas | a1z | s | asseon [ asoesoo | acoeso| oooeson | szoeen
8 ADOIOLETO[OMN - x5 | sooeos | roscon | sereos | oooeeco | oooesoo | 17sec2 | 7sse0n | srseos | asoeos | oooeoo | rovear | 2osesz | aoseas | zoseos | soreon | oovesoo | ooomson | 2sseoz | soses | saseoz | ouoesoo | 7ase10 | ssseo | 2oseos | oooeson | arseos | oooeeoo | sseor | areeos | sssecr | sazeor | arseos | oooesoo | vooeson | oooesoo | sszeor
=
WEGIYLTSI - | =socs | oocos | soreon [ omeso | acoeso| 1rseae | 7soeas | srseos | asaos | omewo | sosear | camese | acseas | 2svmos | soreca [ omeso | asoesoo | cssece | swseas | ssucen | omesan| 73920 | ssseso | caueas | oooeson | sroees | oomesan| sscon [ arseos | oueoe | semeae | aroeas | oomesan | oameso [ asoeso | sszeon

PEP ecopassport 6/6 HAGE-01298-V01.01-EN



